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This Test Booklet contains 80 questions. All
questions are compulsory, The Booklet 1s
bilingual. In case of any ambiguity in any question,
English version will hold good.

The Test Booklet consists of 32 pages (including
cover sheet), Count the number of pages and

questions before attempting the questions.

Blank space in the Question Booklet may be used |3

for rowgh work.

. Each question is followed by four allernatives.

Select only one, which you consider as the most
appropriate. Shade the relevant circle against the
number on the OMR

Answer Sheet, Selecting more than one answer

corresponding guestion

for a question, even if one of the selected answers
is correct, would result in its being treated as an
InCoOTecl aAnswer.

{(a) Correct answers will carry 2 marks gach.

() Wrong answers will carry negative marking
of {minus) .5 mark each.

(¢} Questions not attempted will carry no mark.
This Booklet has three sections :
Part A
Part B -
Part C

Lanpuage Proficiency
Teaching Aptitude
Reasoning Ability

. Merit list will be prepared from scores in 20

questions of Language Proficiency, 30 questions

of Teaching Aptitude and 30 questions of

Reasoning Ability.

. Answers should ONLY be marked on the OMR

Answer-3heet. No answer should be written on
the test Booklet,
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PART - A
Language Proficiency

(Expected Answering Time : 20 Minutes)
(Questions 1 to 4)

Read the passage given below and answer the questions that follow.

The Galapagos Islands are in the Pacific Ocean, off the western coast of South America.
They are a rocky, lonely spot, but they are also one of the most unusual places in the
world. One reason is that they are the homes of some of the last glant tortoises left on
earth. Weighing hundreds of pounds, these tortoises, or land turtles, wander slowly
around the rocks and sand of the islands. Strangely each of these islands has its own
particular kind of tortoise. There are seven different kinds of tortoises on the eight
islands, each kind being slightly different from the other. Hundreds of years ago,
thousands of tortoises wandered around these islands. However, all this changed when
people started landing there. When people first arrived in 1535, their ships had no
refrigerators. This meant that fresh food was always a problem for the sailors on
board. The giant tortoises provided the solution to this problem. Ships would anchor
off the islands, and crew would row ashore and seize as many tortoises as they could.
Once the animals were abroad the ship, the sailors would roll the tortoises onto their
backs. The tortoises were completely helpless once on their backs, so they could only
lie there until used for soups and stews. Almost 100,000 tortoises were carried off in

this way:.

1. The author calls the Galapagos Islands as an unusual place because
(1) they are in the Pacific Ocean.
(2) the endangered giant tortoises are found there.

(3) they are rocky and ianely spots.

(4) they are located off the western coast of South America.
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2. Which of the following statements is correct ?

(1) There is one kind of tortoise found on seven islands.

(2) There are eight kinds of tortoise found on eight islands.

(3) All the tortoises are found on one island.

(4) There are seven kinds of tortoise found on eight islands.

'Ships would anchor off the island’ means

(1) ships would go off.

(2) ships would be near the shore.

(3) ships would be off to another land.
(4) ships would go t6 another island.

4, How did the crew make the tortoises helpless ?
(1) By apchoring off the islands.
(2) With invention of refrigerators.
(3) By rolling the tortoises onto their backs.

(4) By seizing the tortoises mercilessly.

(Questions 5 and 6)
The following sentences have been jumbled except the first word/phrase. Choose

the options (1, 2, 3, 4) to make a correct sentence.

5. Having been/live together/ learning to/ India is an illustration of /a country/

of plurality. A B ¢ D

E
(1) DBACE
(2) DECAB
(3) DECBA

(4) DCBEA
LL-2/A




6. Clothes, food and celebrations / and heritage / of the country / of people /add to /
A B C D

the abounding culture.
E

() CDEAB
(2) ABCDE
(3) CDEBA
4) ABEDC

(Questions 7 to 10)
Choose the most suitable word for blank from the given options.

Tounists travelling to India from 43 countries, including the US, will no longer have
1o queue at  their local consulates to obtain visas. Tourists __(7) these countries
will now be able to apply online and receive the green hght _ (8) four days,
before getting their visa at an airport  (9) arrival. Most foreigners have to wait

for weeks (10) getting their visa.

7. (1) to
(2) for
(3) from

(4) visiting

(1) for
(2) from
(3) with
(4) within




(1) on
(2) in
(3) when
(4} after

. (1) on
(2} by
(3) while
(4) betore

(Questions 11 to 13)

The following sentences have an error in one part of the sentence. Find the part
(1,2, 3, 4) which has the error.

11. (1) Although he was the friendliest of all present (2) and different from others
(3) he hadn't hardly any friends (4) except me.

12. (1) Please ask your staff (2) if anybody of them (3} has seen (4) my laptop.

13. (1) She was able (2) to free herself (3) with her debts (4) by working very hard.

(Questions 14 and 15)

Pick out the phrase which 1s closest in meaning to the idiom given below.

14. Burn one's boat
(1) To give up the struggle
(2) To burn with anger
(3) To cut off all escape routes

(4) To destroy oneself
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15. Stew in your own juice
(1) To cook slowly in a closed dish
(2) To be in an agitated state of mind
(3) To show one's creative abilities

(4} To suffer the consequences of one's own actions

(Questions 16, 17 and 18)

Choose the word/phrase that best completes the sentence.

16. The peace of the public library was by the strident ring of the cell
phone.
(1} smashed
(2) fractured
(3) demolished
(4) shattered

. He never speaks with people. There is no trace of any benevolence in
him,
(1) flawlessly
(2) harmlessly
(3) happily
(4) gently

- 1 told him if he had reminded me earlier, I the payment.

(1) wouldn't delay
(2) wouldn't have delayed
(3) will not delay
(4) will not have delayed

LL-2/A




19. Choose the correct sentence among the options given,

(1) Where did you get this book ?

{2} Where you got this book ?

(3) Where this book you get 7

(4) This book you get from where 7

. The following five sentences come from a paragraph. The first and the last

sentences are given. Choose the right order in which the three sentences (PQR)

should appear to complete the paragraph.

51
52
S3
54
85

Bonsai is an art worked with plants grown in a shallow pot.

It is designed to express the beauty of nature by all kinds of phenomena
imaginable.
Bonsai, in fact, captures the moods of nature in a surprisingly limited space.

It is not as it is commonly believed, a tree turned dwart.

It may give one the impression of trees in a forest no bigger than your table

ruler.
(1} RPPQ (2y QRP
(3) PQR (4) QPR




PART — B TRT—a
Teaching Aptitude : Traror arfrerran
(Expected Answering Time : 40 Minutes) (arafera 3w @ : 40 firre)

21. If the teacher is not able to answer the 21. f¢ W& w formeff & g & T W

question raised by a student 1 IR o 7 T T B

(1) he should avoid responding. (1) 38 3w A F F=q7 =1fe |

(2) heshould give an interimanswer ~ (2) 38 wifeht @ =7 & fow
to avoid embarrassment, - AR/ Aepfeyd I &1 =R |

(3) admit in the class that he will try (3) 38 e ¥ e o1 @HR FET IR
to find the solution and give the fo =8 WA &1 IW @i‘ ol =Ife
answer in the next class. O ST 0Tt sha o gme ¥
pose the question to the class and (4) Frenfiat & am yw wE i =
ask them to come prepared in the FTAT e H dUR et 21 & fare
next class. FeAr |

. Basic requirement of teaching 22. w9mEyqul fireor i HTERHT ATETThAT

efficiency is 2

(1) mastery on teaching skills, (1) Traror sprerert # weftorar / FTerdl |

(2) mastery over use of different (2) Toreror &t fafir fafimt & wam &
techniques of teaching. yaTor [/ @“ﬂ'ﬁfﬁ;{l '

(3) mastery over appropriate use of  (3) e fifgm v dreifeh F 3fm
media and technology in teaching, TIRT § 0T |

(4) all of the above. (4) 390t @i |
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13. Teacher's knowledge on student's 23. Rrnfdaish HATETIFATAT 311 ATE]
needs and interests are covered by the F st 7 foreres & forn SRR 3udey
subject ?

(1) philosophy of education.
(2) psychology of education.
(3) sociology of education.

(4) politics of education.

. Astudent in class V11 is experiencing 24. h&fl 8 1 van fareneff fee a4 § T
severe episodes of depression within - 1 Tiefit R a8 Sl
the past year, as the student a8 T4 51 3 HHAv THE | 959 W@ R,
approaches the transition in puberty, 30 foTy =g o5 ﬂ%’ﬁc@ a1
it would be most important for the
student to
(1) consider changing the school. (1) fazmerm weeq & a1 4 foEn

HiAT |
(2) develop friendships with peers (2) 3 Tt & T T e e
who have similar problems. Tt SR T gEETd | |
(3) rely only on family members for (3) EraT F foru e uiEn ¥ Hewt
help. o R
learn to access counselling (4) ﬂmmﬁmﬁﬁﬁaﬁ
services as needed. T SRR R HEAT |




is to

(1} prepare a new curriculum,

(2) improve the quality of the
education system.

(3) introduce yog in schools.

(4} delink the degree with education.

. Best teacher is one

(1) who provides information related
to the subject.

(2} who is friendly with students.

(3) who inspire the students to
explore their potentials.

(4) who is very strict with the rules,

. A good teacher can bring positivity
among students by
(1) promoting competition between

them.

(2) invc}Ivin:g all the students in class

work / interaction.

(3) delegating work to above average
students.

(4) delegating work to below average

students.

25. The purpose of new education policy 25. 73 fer Hife =1 stvy 2

(1) o 5 reer=ml dam AT |
(2) Feven sromett =) oraren & gam e |

(3) ferenera 5 2 it yreena |
(4) Teft =t fvam & syem s |

26. Tafeee firers a8 & <t

(1) oo | weifta sresriat 3uerey
FA1 2 |

(2) feramfefit = are gu- e war g |

(3) Toremiei =Y 3eht ermanadt &t gt
o for sicenfea s 2

(4) Frawt &1 oeft & urem w2

27. U= o= Treres faenRit Ff wemoegeman

GIEETIR:
(1) 37 o= wfaefar s |

(2) Tsft foerfefai =1 =em =i/
TR faa & it & |

(3) 3Maa & R T fenfeit ) e
iRt |

(4) i & i a7 Frenfiei ) =
Hfue |




28. During lunch break, while playing 28. HEATE o ST & 2 Terd 9ud
children enact like teachers and g3 freret v fenfifa & o stfa
students. This form of learning 1s H | T THL SR I ST ST

known as _ 2

(1) classical conditioning. (1) Tt STgeeA |
(2) cognitive learning. (2) GHTeRs TR |
(3) verbal learning. (3) TifEes st |
(4) social learning. (4) grfsrer 31ferm |

. To develop self-confidence among 29. ferenfoft ¥ srrenfavam fasnfea &t
students a teacher fore wer fheres ] AT ﬁﬂ%ﬂ |
(1) should encourage English (1) ISl sem B et T |
speaking.
(2) should encourage punctuality in (2) FeThE # grafrest @t deenfEa
the classroom. HTAT
(3) should encourage students to  (3) STIH 3¢ ved % ferg fernfifa
dress well. 1 Wiearted e |
(4) should encourage students to (4) fagerfafal =1 9=t FAMTEW
explore their unique potentials. waaTel Y FgE & fore WeaTea
CEBRIAT




30. Which statement suits most for an 30, Trefafag % 0§ FH 91w Ueh
effective teacher THTET fS1eres o fere watfs IUTHI B
(I) Give lots of assignments to the (1) Terenfeit =61 sreaform e T T |
students.

(2) Impress the students with fluent (2) F&m ¥ gymOvETE A Freet
English in the class. feremfefet =t gwifera & |

(3) Take regular class tests in the (3) =rerd Frafia w98 sa T
class.

(4) Relate the subject with the real life (4) owr =1 Swafs e H
situations/examples. aftfesrfemt / sererdt & v et

EaCIN

- Progressive education is focused on 31, woifaard frer #fdq 2
(1) Passive learning. (1) Tfsgr a7fepmy oy |

2) af@g srfepm ar |

3) wfgandt a1ftpm o |

4) TG STeTH 9T

(2) Active learning,

(
(3) Stereotype learning, (
(

(4) Traditional learning.

. CCE stands for 32. Hr &t § (CCE) & areudt 2
(1) Continuous Complex Evaluation. '
(2) Comprehensive Continuous
Evaluation.
(3) Continuous and Comprehensive
Evaluation.
(4) Complete Comprehensive

Evaluation,




Services Scheme (ICDS) includes
(1) supplementary nutrition.

(2) health check-up.

(3) pre-school education.

(4} all of the above.

. TET refers to
(1) Trained Elementary Teachers.
(2) Teachers Eligibility Test.

(3) Teacher Educators Training.

(4) Training and Education of

Teachers.

. The term pedagogy refers to

(1) method and practice of teaching.

(2) child nutritiomst.
(3) special kind of schools.

(4} child's learning level.

33. The Integrated Child Development 33, T hd S ﬁWHWﬁW{ICDS}ﬁ

e 2

(1) EYEh 0T |

(2) wareem qiE |
(3) - Tt frem |
(4) Fomraa |l )

34. ALH (TET) woltA 8

(1) wfirfira wrifires R 9 |
(2) fveres are oET 4 |

(3) Rrarer sreamas wiieor 4 |
(4) sftreor vd et &t fan & |

35, Srememe € sifinm 2

(1) Fveor < fafe vd s |
(2) aTer drefordT |

(3) farste werw % foramer |
(4) s 1 Ao & |




education because

(1) girlsare generally more intelligent
than boys.

(2) girls are more hard working than
boys.

(3) education of girls is an important
method of bringing social change.

(4) girls could be good teachers,

. An effective teacher will ensure
(1) completion of lesson.

(2) competition among students.
(3) critical thinking in students.

(4) control over the class.

36. Girls should be encouraged to have 36. @efral ﬁﬁiﬁﬂﬁ?ﬁﬁ%%ﬁm@ﬁ

AT =GR T

(1) el seal A qomn 3§ am
w9 4 Al Ffgam et €

(2) wrefral erewi &1 gora § sifm
afkeri gt 2 |

(3) GrTiSTeF aeeTa o o fore wrefrt
=1 faren uek mevaf fafr 3

(4) wrefral sr=t frfammd g1 oewdt £ |

37. U warell e giifvea wim

(1) i@ 1 qofar |

(2) fererféiat & sftg wfagfiar |

(3) fernfifat o waTeirerTETE R
(4) e o frgmon |

. The guality of teaching can be SE.ﬁTW@WWWf#}TmW

S

(1) =iier wdterr < aftons = gry |

(2) ferenfefai <t sufeufs & gm )

(3) e o TaenfRal o wreaha fiFa
1 TUIEAT % g0 |

(4) shea1 <1 91l & gru |

assessed by the

(1) result in annual exam.

(2) attendance of students.

(3) quality of interaction of students
in the class.

(4) silence in the class.




39. Which of the following is the most 39, FrfafEa § S = g wea s
important characteristic of Open Text TReR saaed] &) waifues Tew o
Based Assessment system 7 fagmar 2 7
(1) Students become serious (1) Teremeff sfie 81 < S
(2) Improves attendance in the (2) ShefTheE # gufeafa 4 LIS 2T 8

classroom

(3) Reduces examination anxiety (3) ferenffi =1 wher & waifer o

amongst students F 0 AT 8
(4) Compels students to think (4) Torenfieri 1 |ra [GUREEEERT
2
40. School education aims at 40. e fer = RO 2
(1) harmonizing the neecds of the (1) = Y anavEeTS Sf TS
child and demands of the society T} 6 2l % @ =+ féu ﬂﬁ%ﬁl
for the benefit of both. =HAT |
(2) making the child able to get job. (2) =9 1 et W & % g
FAT |

(3) preparing the school programme (3) g=d H1 ATATIRAT &+ HLET

according to the need of the child. . Forererd! whrEm ) FAR FT
(4) all of the above. (4) e |l |

41. Teachers primary responsibility is 41. Tregent ed e 2

(1) planning educational experiences. (1) stferer FTEl ST ST |
(2) implementing policies. (2) Fifet =t oo |

(3) keeping students records. (3) Frenfifal & ferrd cakceoill
(4) all of the above. (4) T |+l |

LL-2/A 15 [P.T.0.




42. While dealing with indisciplined 42. FIEE faenfeat & amyei o fam

44,

students a teacher should
(1)
(2)

punish them,

talk with them and guide and

channelize their potentialities in

constructive ways,
(3)
them.

none of the above,

(4)

students learning in a given content
area.

(1) Achievement Tests

(2} Aptitude Tests

(3) Diagnostic Tests

(4) Readiness Tests

Effective teaching means
(I) teacher is active but students may
Or may not be active.

(2} teacher may be active or inactive
but students are active,

(3) teacher is active and students are
active.

all of the above situations.

LL-2/A

complain to the Principal against

_measure the extent of 43.

44.

16

A T T f¥eT ) e =R

(1) Terenfelat = afem o |

(2) 378 s =, fomm 93BN =
IR FATHS aiT @ 379
weHart &1 e e w5 |

(3) 37 Taems vuvmend & Rreme
AT |

(4) Iutira & & 1 oft 7 |
e feu e iyt 89
4 frenfdfat & saftrm < dimr % g
2l
(1) Iueafelr wiegor
(2) sTfsrar gftem
(3) “erf¥e adisgor
(4) Toatar wliem
T e § Hrewd 2
(1) favers wieha & wrg Rreneft afdr 2
Hehd & s T o S w8
(2) Bege aferg @1 smfFm S oA 2
T ferameff wifeeg ¥

(3) forerer wfsey 2 ok freneff afeg 3

(4) Wi oft ufefesrfeat |




45. Questioning skill in teaching is most 45. e # S I w1 e waE

useful in Funft g 2

(1) ensuring students’ active (1) arferm | faenfefai 1 wiw
participation in learning. grafi S ghifem w6 1)

(2) memorizing the facts by students. (2) ferenfefat ¥ T A F A" WA

7

(3) making students disciplined. (3) Terarf¥f=i =i ERIIEG) AW |

(4) preparing  students  for (4) Terenfofai ot e & fru R &
examination, i

46. As ateacher, your main responsibility 46. TF Fiar + wq 1 TRl e e

is to 2

(1) teach your subject well. (1) aroe e ) o 0 § TEH |

(2) evaluate the students. (2) Frenfiie = Hearera FET |

(3) promote all round development of (3) Forenfefit 3 wiqol farshr =1 =gvl |
students.

(4) increase attention of students in (4) werehe 1 ferenfoedi < s nqfg
classroom. il

47. The nature of teaching job is 47 Tovegor soaaTa Y W 2

(1) managerial. (1) wEaeh |

(2) administrative. (2) TETEE |

(3) service-oriented. (3) TET-f5d |

(4) professional. (4) SR |

LL-2/A 17 [P.T.O.




48. W

49.

noticed a few students are who not
paying attention. You would

(1) scold them for not paying
attention.

(2)
(3)

(4)

give a command seeking attention,
give punishment.

report to the Principal.

Who propounded the idea of basic
education ?

(1) Vinoba Bhave

(2) Mahatma Gandhi

(3) Rabindranath Tagore

(4) Sarvapalli Radhakrishnan

+ Madhuri has not been scoring good

marks in mathematics. What will you
do ?
(1) tell the parents to give her extra
coaching

(2)
(3)

find out the underlying reason
advise her not to take science
stream later on

ask her to focus more and work
harder

(4)

].-.-]_.-'2."..."".

49,

hile teaching in the class, you 48. EWﬁﬁTWW%WW%@T%

%% el R d e 2 @ ¥
(1) =M 78 3 % fore 328 o |

(2) 19 4 % fo1Q e |
(3) g 3T
(4) gaErEm it f9d s

ARG f¥rer &1 foraw frem weqw
fema 7

(1) Forfram v

(2) wETeaT et

(3) Wiy 2

(4) FETEH TerFR

- TR IO 3 oTed afes g A om

&R | 3719 41 7 7

(1) & Aw- e & sus R srfifea
fR1ero7 o S5 % fyw ey

(2) 399 Hafa HRoT =7 gaq1 ST

(3) 38 @ # fag fawn een 03
1 HATE A1

(4) 38 11 =1H 3 @ i whem
& forg e




PART -C A-¥"

Reasoning Ability ek Tteru
(Expected Answering Time : 60 Minutes) (srafera I AT @ 60 oee)

51. If HEALTH is written as GSKZDG, 51. 3¢ HEALTH FrAEl GSKZDG, feran
then how will NORTH be written in ST & & 34 1 § NORTH =I f|
that code ? weeR ¥ foren smam 7
(1) OPSUI (1) OPSUI
(2) GSQNM (2) GSQNM

(3) FRPML (3) FRPML
(4) 1USPO (4) IUSPO

. In a certain code language, KAVERI 52. e faffa Fe i KAVERI®T VAKIRE
is written as VAKIRE. How is Rrav e | S8 Fe # MYSORE &I
MYSORE written in that code 7 Torg R © TorE s 7
(1) EROSYM (1) EROSYM
(2) SYMROE (2) SYMROE
(3) SYMERO (3) SYMERO
(4) SMYERP (4) SMYERP




33. Six people A, B, C, D, E and F are 53. 98 =4ffi A, B, C, D, E, 3R F@dl &

LL-2/A

standing on the playground in a
hexagonal shape. All the sides of the
hexagon so formed are of same
length. Aisnotadjacent toBorC;D
15 not adjacent to C or £: B and C
are adjacent; F is in the middle of D
and C.

Which of the following is not a correct
neighbour pair ?

(1) AandF

(2) Dand F

(3) Band E

(4) Cand F

. If A+B>C+D and B+C > A+D, then 54.

it is definite that
(1) D=B
2y C>D
(3) A=D
(4) B>D

20

e A e SRR w2 ¥ | wemh
1ol ot we T ) E | A SR
B 31 C o Ta TE 8, D=afdy C a1 B
HeH TR, B 3R C e E, ¢ ufa
DIRCHA=ud g |

fafrfEa 3 & = a1 v wd oo
U FE R ?
(1) ASRF
(2) D3F
(3) B3R E
(4) C3RF

I A+B > C+D 3R B+C > A+D 2
T g fPfvm & f

(1) D>B

(2) C>D

(3) A>D

(4) B>D




55. In an examination, Josef scores 4

marks for every correct answer and
loses 1 mark for every wrong answer.
If Josef attempts in all 60 questions
and secures 130 marks, the number of
questions he attempted correctly, 18
{1y 35

(2) 38

(3) 40

(4) 42

_1n a tribal village, 40% of the adults
are illiterate while are 85% of the
children are literate. If the ratio of the
adults to that of the children is 2 : 3,
then what percent of the population 1s
literate
(1) 20%
(2) 25%
(3) 50%
(4) T5%

55, T e H SR e Al I o

4 3TeF TG T & ST Teeh T 3TW
3 foTe | o7 o8 B WA g | I S
Tt 60 WA T T 8 SR 130 I
T BT & a1 36 R wel o el
EL TN
(1) 35
(2) 38
(3) 40
(4) 42

56. T ST 1A 3 40% TR AT

$ wafs 85% w2 firfea ¥ | af w==l
o e & Tl 1 o 2 3 R Al
v w1 e wiowa g 2 7




diseases.

Reason (R) : Vaccines must be given

to children,

Mark your answer as per the codes

provided below:

(1) Both A and R are true and R is
the correct explanation of A.

(2) BothAandR are true but R is not
the correct explanation of A.

(3) A is true but R is false.

(4) A is false but R is true.

. Assertion (A) : Bats can fly in the §8.

night.
Reason (R) : Bats emit ultrasonic.

Mark your answer as per the codes

provided below:

(I) Both A and R are true and R is
the correct explanation of A,

(2) Both A andR are true but R is not
the correct explanation of A.

(3) Ais true but R is false.

(4) Ais false but R is true.

57. Assertion (A) : Vaccines prevent 57, sTT¥eRe= (A) : #1% il @ Jwam

T E |

Toh (R) : o=dl 31 I 5 ovan

Hifeu |

= few MU e & muR W I W w

ﬁEETF{?ﬂ‘TIET{:

(1)AsRRIA e Eqa R, A
T ST |

(2) AR R i wdl & vt R, A Y
gt e AEi 2 |

(3) ATl R g RTEE 2 |

(4) ATOIA 8 TG REE 2 |

HATBLA (A) : SRS T4 & 3T T

g1

T (R) : THTTES WA el @

g

A4 faw T FRE & AR W AR I W

ﬁHﬂT{‘ﬁ'ITET{:

(1) AR R gt Eqar R, A I
et TR # |

(2) AR R aft S ag R, A
e AT AE |

(3) AGSI R R Terd § |

(4) ATRIA B g REA 2 |




59, How many triangles are there in the §9. freafafae me i} forgm Frgs 2 7

following figure 7

(1) 6 (1) 6
(2) 10 (2) 10
(3) 11 {(3) 11
(4) 12 (4) 12

60. [ooking into a mirror, the clock shows 60. Ush ador § TEA a0 9:30 FH W
9:30) as the time. The actual time 15 ﬁﬁlﬁ AT 2 | IR 9y 7

(1y 2:30 (1) 2:30
(2) 3:30 (2) 3:30
(3) 4:30 (3) 4:30
4y 6:30 (4) 6:30

I 1 l 1
61. li‘x—-;T | and y + E—' ] then what is ﬁl.ﬂ'%xf';f 1 3R y+—= | & 4l xyz

the value of xyz ? qH FE ¢
(1} 1 (1) 1

2y -1 (2) —1
(3) 0 (3) 0

(4y 1/2 (4y 1/2
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62. The pie-chart given below shows the 62. it fean T UTE-4TE U farameff & AL
marks obtained by a student in all
examination. If the total marks
obtained by him in the examination
were 540, answer the question given

below based on this pie-chart

How many more marks were obtained
by the student in Mathematics than

those in Hindi ?
(1) 30
(2) 20
(3) 10
(4) 40

a+t forwat d re ol F emtar 2 | 3f
35wt foei H st 540 979 e v
& 11 39 UE-91 % 7R WA R
T T 3 9

feremeff < grov fet <t gere o rforg
foer 37eh 217w fpw v 7

(1) 30
(2) 20
(3) 10
(4) 40

63. Select the related word from the given 63. 120 ¢ fasredl § @ defir w12 &) Y

alternatives

Radio : Marconi : : Television : ?
(1) Graham Bell

(2) Faraday

(3) James Watt

(4) J. L. Baird

LL-2/A
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et e | St 7
(1) orEm s

(2) %

(3) =g 91e

(4) . 0et. S




64. D is the brother of Q and R. Sis R's
mother, T is P's father, which of the
following statement cannot be
definitely true
(1) TisQ's father

(2) Sis P's mother
(3) PisS'sson
(4) QisT'sson

65. Find the wrong number in the series  65.
3,10,27, 4, 16, 64, 5,25, 125

(1) 3

(2) 4

(3) 10

(4y 27

66. Find the missing number 66.
1,2, 12,27

(1) 3

(2) 3

(3) 7

(4) 9

Find the odd one out
(1) CO05

(2) J12

(3) N17

(4) U23

67.

LL-2/A

25

64.

67.

P QR RFMER | S, RAIAT R AN
T,p % R 2 | Prafafga d a SR @

For PR v 3 wd 7 @ w2
| (1) T, Q= i @

(2) S,PHIHAT2

(3) P,SHIGAE

(4) Q, TH AR

sl § TTerd YT 1 U TEY
3, 10, 27, 4, 16, 64, 5, 25, 125
(1) 3

(2) 4

(3) 10

(4) 27

A H@ & AT @
1,2, 12,27

(1) 3

(2) 5

(3) 7

(4) 9

T T Tl e

(1) CO05

(2) N2

(3) N17

(4) U23

[P.T.0.




73. Compare the knowledge of person's 73. A, B, C, DTF E% H &1 qor =i

74,

LI-2/A

A, B, C,DandE. Aknows more than
E; E knows more than C; C knows
more than D; B knows more than A_
Then who is best knowledgeable ?
(1) A

(2) B

3) C

(4) D

A, E ¥ Al ST ; E, C @ siftrs
SIFAT; C, D & atfrs a7 2; B, A
¥ Sl ST @ | B gt e
27

(1) A

(2) B

(3) C

(4) D

A dice is thrown four times and its four 74. T TR 7 IR SR ey ST & Ud TRl

different positions are given below.
Find the number on the face opposite

the face showing 2.

VACROY

(1) 3
(2) 4
(3) 5
(4) 6

28

=R fom fRrfmi fR A 8 2 % Roae
a8 WA HT 37 87 7

VACRCRS

(2)
(Iy 3
(2) 4
(3).5
(4) 6




75. Choose the alternative which closely 75. ﬁmwm%ﬁﬁﬁﬁﬁ
resemnbles the mirror image of the e w1 e & 4 0=
given combination
ANS43Q12 ANS43Q12
(1) AMEbEDIL (1) AVMEZREDIE
(2) SIQEREUNA (2} SIOQEREHA
(3) 2MAEPOCI 3) 2UAEIOSI
(4) 1SOrEAUZ 4) 1SokeAUE
(1 (1) 1
(2) 2 (2) 2
(3) 3 (3) 3
(4) 4 | (4) 4

_Find out from amongst the four 76. =R farehedi # & 38 T4 St wiqam fegan
Jlternatives as to how the pattern 0@l W & U@l HITS i T8 FA T

would appear when the transparent nga:ﬂﬁ Bl
sheet is folded at the dotted line




77. A number series is given with one term 77, TF GEA1 e & 8 & foem T+ 9g
mussing. Choose the correct alternative Bt fear e 2 | et fou e Rt A @
that will continue the pattern in place &2 feey T, 51t uw g & T w
of the question mark Sfomm w6 S @

6, 13, 28, 59, 7 6,13, 28, 59, 7
(1) 11] (1) 111
(2) 122 (2) 122
(3) 113 (3) 113
(4) 114 (4) 114

+ In a row of 21 boys, when Rajendra 78. 21 weh! i T Ul o o TSI% <
was shifted by four places towards the T 0% IR T S R EH
nght, he become 12th from the lefi T T | 124 W w8 | e
end. What was his earlier position WS Tt dfa f vge 303 a5 ) foufy
trom the right end of the row ? o7 oft 7
(1) 13th
{(2) 14th
(3) 12th
(4) 9th

. What will come in place of ? . S99 TIg & T o o
40:21::152:7 40:21::152 7
(1) 75 (1) 75
(2) 51 (2) 51
(3) 77 (3) 77
(4) 53 (4) 53




80. Select the figure which satisfies the 80. 38 FTRfa & =TT W M X ST id

same condition of the placement of dot
as in figure X

W

(1)

(2)

o2
o

/AN

3)

L
(X)
)

2

(1 1
(2) 2
(3) 3
(4) 4

LL-2/A

31

3w @ firg 1 Ry ) giw el
2
(X)

3)

]

(1) 1
2y 2
(3) 3
(4) 4

[P.T.0,




SPACE FOR ROUGH WORK
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